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wieteal & forg e

Instructions to the candidates :

., TEHYE-TH A RA AT T & | QT T & I A E | WA H. 2 ¥ 5 T&
3 o fawea ¥

This question paper consists of five questions. All the questions have to be

answered. Question Nos. 2 to 5 have an internal choice.

2. UYA-UH & el 3% 300 T a1 fruifm wwa 3 € ® 1 A =y T gwnan
T @ ot gl & o gEE B 1 YT & SR IH Wiemw H o siH =nfen Saen

93 Y 39S 3MeeA-Us H fRa ® | f&d o=y wem # foe 8 T W &%

i T @ | W e qYH T SfEE § 1 39 YEA-US 4 QWM ¥l -1

weft & fog et &1 wrLIl & 9 s ‘e wE Ca E R - v eafe
foreg Qe et gdenel 9m-I1 & 9M-231 (gar 9M-9 aHl § ¥ S T&h T

F fEd § 1 U-99 & SFER & WAl & SW FANER ©, T g 99T & f9fv=

T & IR e w9 Y UE WY @ e Wil 9o 3 e o ye & S

' fo@ 9@ | wha § 9 ool o swEm # fam s g g, afRfEs

T |

01 (1) P.T.O.
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The total number of marks of the ques'tion paper is 300 and the time allotted
is 8 hours. All questions carry equal marks, unless specifically stated
otherwise. Answers should be written in the medium which you have chosen
in your Application Form. No marks will be awarded, if the answer is written
‘in any other medium. All the five questions must be answered. This question
paper will be in two parts. Part I is compulsory for all the candidates. Part
I is divided into two parts i.e. Part-II ‘A’ and Part-II ‘B’ which will have
two questions each with internal choice. It is compulsory to attempt either
Part-II ‘A’ or Part-II ‘B’. Questions should be answered exactly in order in
which they appear in the question paper. Answers to the various parts of
the same question should be written together compulsorily and no answers
of other questions should be inserted between them. Regular calculator alone

can be used in the exam, not the Scientific one.

B uwwwgﬁﬂﬁ@mﬁmﬁzoaﬁaﬁméﬁlmaﬂwwawa
iRt # <A W '

The first question will be of short answer type consisting of 20 compulsory

questions. Each one is to be answered in one or fwo lnes.
4, o v UMW S ¥ STHT Ia¥d Ued L |
Wherever word limit has been given, it must be adhered to.

5. ﬂﬁmrmﬁﬁmﬁwﬁaﬁégﬁmmawmmaﬁaﬁﬁl,ﬁlma%
fet qo 3OS TR H ¥ AU T U AFh WHT STEW
In case there is any error of printing or factual nature, then out of the

Hindi and English versions of the question, the English version will be

treated as standard.

M0112012 | 01 (1)



M0112012

HT-1
(Part-I)
[t wirenfea & stfad

(Compulsory for all examinees)

(%) &Y IWE T : 10%x3=30

Short Answered Questions :
(1) w@ﬁqﬁaﬂfmuﬁa@ﬁﬁwmﬁﬁm
Differentiate between dry farming and raiﬁfed farming.
(2) gFaH HYU Sl YRS ST |
Define the minimum tillage.
3) Avew B qEE@ B FOH g TE
Enlist the reasons of Mendel's success.

(4) WAY GHO G FHTEHH | AR SF Bl ARG STh h € H SR
W §, A ? |

The recipient parent is used as a female parent 1n a back cross

breeding programme, | why ?

01 (1) P.T.O.
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(5) @ﬁﬁwﬂﬁaﬁﬁaﬁﬁmaﬁhammﬁqmmﬁgamm

R IFTS. 8 W B, H 2

Under condition of limiting soil moisture the transpiration and

carbon dioxide uptake are inhibited, why ?
(6). AR TA.-50 g ?
What 1s RL-50 ?
(1) E wfmyE ¥ 2
What are food additves ?
8) Oy wfalgur % ?
What is transplanting ?
9) U@ 39 go&is 1 & ?
What 1s sustainable yield index ?

(10) Tt =T gIHh =M T ?

What 1s moisture deficit index ?

M0112012 - 01 (1)



2.

5
frg & ar # fafed (v 200 =i H) ' 60
Give an account of (In 200 words each) :
() USIHd TUGAR Fayd T IHhl ﬁfmﬁ'l
Integrated weed management and its approaches.
() FEE wE gEu qu W-h/agRge TH e S fafie aoET |

Seepage Vs. Percolation and various techniques of in-situ moisture

conservation.
S1TaT
(Or)
fr=1 & aR ¥ fafed (mzoome—cﬁﬁ) :
Give an account of (In 200 words each) :
@)  HE T JG-IaEh hi YHH
Role of Biﬂfertilizers in agriculture.
@) o= geR & | @ a1 <R |

Exploitation of various types of male sterility.

M0112012 01 (1) , P.T.O.



3. frmafafes & @ f&d 49 W dfya feufml fafed . SXéO=60
Write short notes on any three of the following :
() FEREdl Td Ifaddia wEel hi HHedd |
Concepts of multiple cropping and intercropping.
@) Hi-anfen ggfa =1 SR
Classification of agro-forestry system.
Gi) afs-favawo =1 T ? ma-m—ﬁuhm T IGHT YiHHI qaEy |

What is growth analysis ? Give its role in crop yield

determination ?
Gv) 9y AT Fra=w & fagEl
Principles of plant disease control.

() WUERU UE WUSIG SN & e fg=m & fafuar

Storage and insect pest control in stored grains.

M0112012 01 (1)



(Optional Section—Field Crop Groups)
1. (@) Y IHE T ' N 3x10=30
Short Answered Questions :
) o A @ 40-45 A % T e W v ¥, w2

Harvesting of fodder sorghum 1s not recommended before 40-45

days after sowing, why 7
(2) FTR/aeEd HHA € ?
What are Riparian Crop.s ?
(3) HUNE F HAE! e T 7
What is. square stage in cotton ?
@) T H oA e T 7
What is arrowing in sugarcane ’
(5) wrvﬁaﬁaawaﬁﬁfaw% ?

What is the method of rodent control ?

- M0112012 01 (1)
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6) U wEd w@m ¥ 2

What is Ratooning ?

(7) ﬁiaﬁwﬁaﬁa}ssﬁfﬁ%aﬁzqtﬁésﬁﬂﬁm

Tel =t Sdl §, F 2

Use of 2-4 D 1s not recommended 35 days after sowing in wheat

Crop, why ?

(8) ﬂﬂ#ﬁmaﬁﬂ%awgﬂﬁnﬁﬁimﬁ@ﬁéﬁ%mﬁ%ﬁqﬂn
%l HH F T gfodl W, I ?

The deficiency symptoms of magnesium appear on older leaves

white of calcium deficiency on young leaves, why ?

9 T R d uym w1 G TS ® M €Y H) URY AT ¥
Fi 2 '
Paddy plants take ammonical form of nitrogen under submerged

condition, why ?

(10) ufE YT guwiE T Y 2

What is Sustainable Value Index ?

01 (1)



4. = & SR 7 fafey -

(Give an account of

@)

()

HEEH H HHA-GE ST |
Crop-protection schedule in soyabean.
F99 H W HI ToE

Fiber quality in cotton.

(Or)

= % sr ¥ fafed .

Give an account of :

(i)

(W)

M0112012

91 0 THigd Jaud

Integrated pest management in chickpea

= fagall | -5+ #t 3R T -
Produgtion technology of sweet-corn in terms of :
() wHa S

(@) Crop geometry

01 (1)

60

P.T.O.
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(9) TUehighd UHU-FEEA
(b) Integrated nutrient management
(9) THqEaR I
(¢) Weed control
(]) hIE =T |
(d) ~ Insect management.
5. frefafed ¥ Q fFgl IR W, 98% W 200 Y&l A 9fya feouit fafed : 4x15=60
I Write short notes on any four of the following 1n 200 words each :
() e
Allelopathy
@) YA F9E, SR FHE .q-q‘ FIE J9E
Legume effect, sorghum effect, cotton effect
(i) WRd # Tered SARA & T
Pulse production constraints in India
(v) SE-FHU™

Bt-cotton

M0112012 01 (1)
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() T H AR

Noblization of cane

Biological control measures.
O-I1 ‘9

(Part-11I ‘B’)

mm—mﬁﬁww

(Optional Secti.on——Hortic’:ultural Crop Group)
1. (M Y IWI 991 10x3=30
Short answered questions :
1) W™ ¥ f=fafega = Tifma iy .
Name the following in mango :
@) I yeld fS9e 3w A Yehe % ®9 A g R
Octaploid variety used as dwarf root stpck.

@) frdts yonfa wa fAeisar &1 R

Seedless variety and cause of seedlessness.

MO0112012 01 (1) _ P.T.O.



M0112012

12
(2) mﬁﬁ_wﬁﬁﬁmﬁaﬁﬁﬁamw%?
What are the copper deficiency symptoms 1n horticultural

crops ?

(3) Tofesiem # gofa & wiRdEwE MER F T 7

t

What are the physiological basis qf dormancy 1in gladiﬂlusl?

(4) U 1 9 R wrsifar 'HﬁTﬁﬁ‘Eﬁ-mﬁ fafed |
Name j:he three gynodioecious varieties of papaya.

(5) U@Wﬂwmﬂmmmmﬁmwﬁéw
Name the first Indian Rose breeder and the variety bred by
him.

6 e § e o Al W FE B wRw e AR -
1 AfHa HifA
Name the physiolugicgl disorders caused due to micronutrient

deficiencies 1n tomato.

01 (1)
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M) wR # W A i ® el few gl e @ e
qrg 7|

Name three pea varieties in which the whole pod is

~ edible.
@) WA & §ad ¥ ‘WN-deR’ & W fafed

Name the biggest onion market in India.

9) ?ﬂﬂ?ﬁﬁﬂﬁ%ﬂﬁ@ﬁ@ﬁ@—ﬁ%%ﬂﬁmm
S 1

Name three biocides used as floral preservators.
(10) SveqHieR =1 § ?
What 1s tendrometer ?
4. /= s ¥ fafed :- | 60
(Give an account of :
§ o H ww/Eh

Mango malformation

M0112012 01 (1) - " P.T.O.
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Bqnchy top of Banaha
@) WS { S g |
Purplé _blntch. in Onion.
o
(Or)
fror & R fafed
Give an account ﬁf >
@) AW H WS Haw

Spongy tissues in mango

Citrus decline
(i) TRTHeA |
~ Alternate bearing. |
> Wﬁﬁﬁwmﬁmﬁwmzoomﬁﬁmﬁ : 4x15=60
erite short notes on -any four of the fﬁllﬂwing in ZOO Wﬂr&s each : '
-.(:) ellcaed § whe w1 vfie

Role of root stock in fruit production

V0112012 ” 01 (1)
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(@) MeErta wEe § e f‘cﬁn
Physiolﬂgical disorders in cole croﬁs
n ‘ﬁ%ﬁaﬁﬁmﬁmﬁﬂm@aﬁﬁ
Topple, bud-rot blindness in _gladicrlus
(v) T wEe § fafE feg
Various sex forms in cucurbits

© e § gt e w m

Protective vegetable production.

M0112012 01 (1)
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Candidate should write his/her Roll No. here.

Hd WAl H G : 5 | _ i@ TS W He o 10
Total No. of Questions : 5 . | No. of Printed Pages : 10
MO0122012
AGRICULTURE
fgda ugA-u=x

- Second Paper ' '
99g : 3 "W - | (UMl = 300
Time : 3 Hours] ' [Total Marks : 300
wienfefar & ferw A3y : |

Instructions to the candidailes :

] WIE-E A FA AT TEE I T T F SWIAE I TAH 2 5 T
# IaRs fawea © | |
This questinn paper consists of five questions. All the questions have to be

answered. Question Nos. 2 to 5 have an internal choice.

2. W-ﬂ?{‘eﬁ‘qgaaimsoo_%amﬁafﬁawsa’%% | afe srgen T < T
T @ ad v @ o gEA § | W & SW S mesm § fo W wfen fewe
=g ST U oTaeA-uF H fRar § | fhE o= weaw § e T S W R
3 &l ferm | |t U we S SAtEd ® |Wuﬁ$aﬁ¥lﬂ‘eﬁm$
W HAMER &, T & WA & fafe= smil % SW e ¥ & e § foe
& a9 I d9 T UEEl @ Sw A for@ Wi | Glel H WA ol o
I § fomn s wwar 8, whefee 7@

01(2) P.T.O.
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The total number of marks of the question paper is 300 and the time allotted
is 8 hours. All questions carry equal marks, unless speciﬁc:silly stated
otherwise. Answers should be written in the medium which you have chosen
in your Application Form. No marks will be awarded, if the answer is written
in any other medium. All the five questions must be answered. Questions
should be answered exactly in order in which they appear in the question
 paper. Answers to the various parts of the same question should be written
together compulsorily and no answers of other questions should be inserted
between them. Regular calculator alone can be used in the exam, not the

Scientific one.
3. umwagﬁﬂaﬁmﬁﬁﬁzoaﬁaﬁwﬁmmmw-wawﬁ
ufeqdl | e e | | '

The first question will be of short answer type consisting of 20 compulsory

o

questions. Each one is to be answered 1n one or {wo lines.

4 R v= g9 @ T ¥ ST 3Evd Uled & |

Wherever word limit has been given, it must be adhered to.

In case there is any error of printing or factual nature, then out of the
Hindi and English versions of the question, the English version will be

treated as standard.

M0122012 ' - 01 (2)



1. ﬁwﬁciﬁgazowagsﬂﬁﬂ%ﬁﬂaﬂw@mﬁﬁﬁaﬁﬁém%:20x3=60

The following 20 questions are short answer type, each one 1s to be answered

In one or two lines :

(A) nwmﬁ@aﬁmwﬁﬁw%@wmﬁﬁm(meeder)
disl &1 3ARA B § ) .

- Name three institutions located in Madhya Pradesh where breeder seeds

of crops are produced.

(B) ﬁﬁﬁmmmaﬁ%ﬁmammﬁmmmﬁrﬁaﬁshmaﬁrﬁm
uﬂ@z- (DAiJ) % S B U S gl

Name the plant nutrients with their percéntage availability in the

- fertilizer Diammonium Phosphate (DAP).

(C) UM &S F e & fow sraifea e # S (rouging) oA B FFg-fFg
Y A 'R W K@ =@ifed ?

At what stages of plant growth rouging should be done in paddy to

maintain purity of seeds.
O) wER % fau Har & @9 v EgE & AW fafed)
 Write the three components of messages prepared for communication.

M0122012 o 0® P.T.O.
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(E) %ﬂtﬁﬁﬁqmﬁnwmﬁﬁaﬁﬁaﬁrﬁ?mﬁmwﬁﬁ—w
K ' R
Areawise which aré the three major oil seeds grown 1n Madhya

Pradesh ?

B s A F A A R E 2
. 'Wilat are the three classes“ or categories of seeds prqduced in

India ?

I(G) 3T’ (ATh{A)mqyr'?mam%amﬁ?nwmmm%umﬁﬂ
M
What is the full form of ‘ATMA’-and who heads this at district
level ? I

@ stes @ S gEE () B AR AR § A ae

Name the three measures of central tendency of data.

In rice-wheat rotation system, most of the soils in India have been found

deficient in one micro-nutrient. Name that nutrient.

MO0122012 | 01 (2)



9w wad @ W6 @ fe fed § e A ey for w1 E

-Why should urea not be applied in rice at the time of transplanting
L) I SAE At 7y (S foe o) gl N & gerg ¥ fae e

F TFeEn & guyE fiea €, B8 2 |

Zero till machine helps to solve the problem of late sowing 1n wheat,

how ?

& WY, TEA FQUE T F W w0 fEw T G ey W
(bactenal culture) & WY | Emﬂ%wamsﬂ%aﬁaaﬁw A4qiy

F I HitSd |
Three pre-sowing seed treatments are recommended for gram—one with

a fungicide, another with an _insecticide and still another with a

bacterial culture. List the sequen(je of these treatments and also mention

the time gaps between two treatments.

M0122012 ' 0@ - ~ P.T..



(N)

©)

(F)

(%)

BEMAT O MNT £)

6
W F e A TR (Aphid) ® FRIG ¥ g9 B AU FH TSR (cultural

practice)ﬁ@ﬂﬁﬂﬁ??lﬁaﬁawaﬁﬁ%laﬁﬂ%?-

In order to escape aphid attack in mustard crop, some change in cultural

practices has been recommended. What is that ?

3T - 1Y (intércgltural operation) L) ﬁﬁ'@—"{[@lﬁ gt =l T4 =Rl EXfed

@ 1§ f5f9 YR 98Edl Hal § 2

How does intercultural operations like hoeing help in conserving soil

moisture ?
qammmﬂm@waﬁwmﬁmaﬂ%% ?
How do-trees help in redocing air pollution ?

TR 2w fhey wfova & # 99 § o fe wfowa & & 99 @ e

ik = zq foon & R s ® WO wAeE § 2

What is the area (in %age) under forests in our country, what is the
desirable area (in %age) under forest, and whether the efforts being

made in this direction are satisfactory ?

N1 (9O)



(R) oTcia gl o1 & au T8kl 9gaH &y &l Sl § 2
What is an acidic soil and how 1is it identified ?

S  wmHRe T R e g 9 guRd @ fad S § amn S d, e
TS 9= F/ o8 7

f

What is the chemical composition of common lime used fo_ ameliorate

acidic soils ?
M Gy wew @ # T & e Fig

Name thelbroad categoris of plaht protection chemicals.

9. WHYEN 3ARA & Ifesiv ¥ 7y y_w &1 fafire wm ') #e wiw #

FH-FAE ygE Tl € s ageH e @ Tl uv @ W 8 ? 9EE
R T R A F R A T @ E, e R Y
jﬁﬁ'@ ' . 60
Madhya Pradesh has a special place in soyabean production. Which are the

major institutes in M.P. having soyabean improvement research programmes ?

Discuss in detail what efforts are being made.to increase productivity of

soyabean.

M0122012 - 01 (2) | - P.T.O.
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SPC
(Or)

o W TR F YOE ol wEE §1' kel B WY 3§ HYd & AfEd W
mmlwﬁwﬁa@ﬁéﬁﬁmﬁﬂﬂwimww
Teed T el THe ST # HHEG dish ¥ Wiewar guH IS

“Gram is a major pulse crop grown in M.P.” Justify this statement giving
“statistical details. Discuss the significance of Rhizobium culture 1n 1ncreasing

prod'uctivity of gram and'describe the stepwise method of application of

Rhizobium culture in gram.

3 ym & yHIft e Y9 @ #1 ggfa & faER @ 9uE Hie 1 ST S
e yqE fagell &1 yemiiv hifsa) - N 60

Discuss in detaul the process of certified seed production 1n paddy and highlight

the major points by giving suitable illustrations.

3{AdAl,

What do you understand by biotechnology 9 How are new crop varieties

developed by the use of biotechnology ? Explain by giving suitable

examples.

M0122012 01 (2)
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aﬁw (Adoptlon) den feqwo (Diffusion) TaeTme ?2s W UTH S a:geu_
fafir= arfimress Sforan (Adopter categorles) 1 IeTeL gfgd faR q 9 Eﬁﬁ'ﬂ;l 60

What 1s the difference between Adapticrn and Diffusion ? Describe with examples

~ the va_ﬁous adopter categories as explained by E.M. Rogers.
AYdT
(Or)
ﬁ%ﬁaﬁmwﬁrﬁaﬁa;mw,rw%amamwémwiim
fomr ¥ IviA =S

Describe in detail the essential nutrient elements for plants, their functions,

deﬁciency symptoms and corrective measures.

5. ﬁmﬁf@aﬁﬂﬁﬁﬁaﬂmuﬁﬁmaﬂm 200 vl # wfera feoaforal

fafga : ' | | 4x15=60

Write *short notes on any four of the. folloﬁring in about 200 words each :

(1) o § wewd oo .
Cooperative marketing in India.-

(@) @I WEEd 9Ug &1 Tod W fRa-wwad |

Formation of self help groups and functions.

M0122012 01 (2) ~ P.T.O.
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(3 TewEy (FEE) T wwsEn (fde) # 7 R & 2 S e
SEEEY

What is the differencé between “Correlation” and “Regression” ? Explain

with exémples.-
@ Y- R ERT T VA

Causes of soil erosion and 1its management.
(5) AR Eekl

Environmental pollution.
6) FN FURT H TN ﬂa"'lw 'qa"r,iqgc—q';l-

‘Significance of farm mechanization in agricultural production.

MO0122012 ' 01 (2)



